1 Why m!ght the buyer and seller of the same StOCI\ both thm_k that
T T their trading price was an “astute” decision? How might those words
)f\ LD 7 PAT P apply to what you have learned?

Use the following information posted at the end of the trading day on
April 22 to answer Exercises 2-7.

2. What was the difference between the 52-week high and §2~week low P
price for one share of PetroChina Company Ltd? Z(({g %\ 1% \ ‘{ ’%

3. What is the difference between the day’s high and low pnces for

McDonald’s Corporatmn?s(g ’j[ﬂ—% o ‘3"’%\ i.,% s \

4. Determine the volume for each of the follcwmg, stocks,
a. Berkshire Hathaway Inc L}, (§ #1000y = il
b. McDonald’s Corporation y{)geit%-¢ § 0O = w@"‘“‘?” 0
¢. Texas Instruments Inc g%‘?ﬁ"}i’! < lowks &i?%?? ?{‘xfa
d. Westpac Banking Corporation 2272, 1 le» 3 2 e

i

\QU\ j Z% %{} e @ 5 ”F - Ledy a‘%ﬁ?z 5. Determine the closing price on Ay rll 21 for each of the followm stocks.

e © Y7 al Texas Instruments Inc X .M 2R J’?}i \, s @
LY b. Freeport-McMoRan Copper &r Gold Inc PR ol :'Qg HE= 1S, 1
( 05 (oﬁw f)’]* W wﬁ’ﬂ%ﬁa 2 6. Use the information from Exercise 3 to determine the percent of net

change from April 21 to April 22 for each of the corporations listed
{}j HQ (O o u \ ( - O, in that question. Round answers to the nearest tenth of a percent.
\\e’:“‘ \u e | ; . On April 22, which stock(s)} had a dallar igh that was ap‘pm)ﬂmatﬁg ﬂ{ /:":{)(41'(%?-;
N : j) o ég i 50% lowel:"_\;cl_gzgn the 52-week hlgh7 C M @\ , {_}*‘?ﬁ e,
- 8. If the April het change for Westpac Banking COIpOlfat‘l()l‘l was -3.03,
what was the closing pnce for that day'?
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/ % Which of the following is a true statement? Explain your reasoning.

The 52-week high can never be higher than the day’s high. Falgi’
The day's high can never be higher than the 52-week high. § vir?

10. At the end of the trading day on April 25, Texas Instruments Inc closed OBl L 0%
at $28.84, which was a +5.22% net change from the previous day’s :
close. What was the approximate close on the previcus day?

11. On April 25, Berkshire Hathaway Inc closed at $126,875 per share.
One vear earlier, one share closed at $108,750. What was an approxi-’
mate one-year percent change?

Use the spreadsheet below to answer Exercises 12-16.

12. Write a formula that will convert the volume given in 1,000s into a
volume given in 100s. Use the left side of the equation to indicate in T T
which ¢ store the formulg. \ﬁg . . I
a. Intel bR 1%’“3/ 100 b. Yahoo! Inc i ;”% {0 R ﬁ £33 X Ed. b

13. Write a formula that will store the exact volume for each stock in
column 1. Use the left side of the equation to indicate in ‘Whlch cell
o store the formula. TR

a. Build- A-ﬁzear W@_l;gsg,o Inc N;Ej‘ %A&I w: CO*{:) A
on

24 fof each of the Ta Ry T T

14, Write a fo m‘t‘i’la to determme fhe close
following. Use the left side of the equation to indicate in which cell T L YR
to store the formala. . .. . LA
a. NETGEAR Incg= (L4~ -B% b, Ford Motor Co f‘* (5= 5’”

15. Write a formula to-determine the percent change for each of the fol-
lowing. Use the left side of the equation to indicate in which cell to
store the formula.

a. Apple IncfZ 7| fiwi ~(2) f{JL Wb, Cooper Tire & Rubber Co - (E:t[d’f«i'/( (4 it 07

16. Write a formula to determine the net change for each. Use the left
side of the equation to indicate in which cell to store the formula.

a. Microsoft Corpp‘{w C_Jr F} b. Cooper Tire & Rubber Co \\]T,f {}% %m g
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